Verifying Artin / Bardakov

September-19-14 2:33 PM
—1 —1 —1
Xi > XiXjp1X, Xi = X X+ 14X, AN —
gt or | \ /
Xigl — X; Xit+1 = qXiq P

—1 .
Xi = 4Xit14q Xi 2 Xjp]
Tj — 1 or
Xiv1 = 4 " Xiq Xit1 > X

Artin: B
| Yoz = 10T 00 =133 T Jry = 12T |30 12T = 133 T

o rros = 1)r70n = | 2T = 1235T

7T = %Gf—ﬂvﬂw&/

2 v = BT 0y = |3TH oy = (2T /
B%ﬁQﬁzzﬁaﬁfzﬁﬁw-

) gror o = 2 0TI = 1N =

@@folﬂx/(O\/f }

l//ﬁ@r,:/ww/{gﬁ‘ ki) W)= T2 =135 T
o= )70 = 1 ATy = /,wz

T = )07 = 1//0/

Q)75 75 = L3I0 = //F 12T
f%ﬁ%@=yﬁﬁf%W7~

) o o= G0 = L =

(!iifhﬁ_ﬁj+/~ T-;\QM/TJ 7’/)
Xy = 1< K#1,0 |

l
-~ -/ o _® B R
QCK//VTJ = xéq/xﬂg =J919) k= | ’

-D\

_) - B
QDCOW = 8J9 <=

\ Vo0 =28 192 Nrno s, =28 25 (4290 7

2014-09 Page 1



= 3T 2NTFVEAS ) ITEFTEA 793 \/

= 3529842942 B
\ om0 07 = | /00 = 35182 /o7 =3928 14293
M@ f/g e QQJ@—//@ gg_’af?_a/ Iy 2= C&Z?&OIZMJ
N 753755075 = 3N 292 [fgnen =0364208434 /75

= 035 FH2 A2 q
— — 2

20700 = 37507 =029 fol, = T3 Y
EVAeeY 7395 = 032§ oo = 04%3_0}2“///72/ =o~34°

—

)0 = 2T oﬂ//fg»vzw 73

Y 0o = )7 = 304 Mo \JC
1//&Tgf/\t - - /\/o ocC.

JES ([L)/‘/j Va‘i/\%@p/ 7LO ﬁb z-fo/\c @/L/A?Z/&/)Z

2014-09 Page 2



